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1. (Chapter 1: 60 points) Consider the system A€ = b with @ = | defined by
g

2Ty 4 329 FAxs 2= 2 Z 3 4 L
ATy + 3Ty + 81y + 14 = 4 =7 | ; gt \L‘
6z + 322 + 815+ x4 — 2 b 8 \ &

Solve the following parts:

/5( (a) [10%)] Find the reduced row echelon form of the angmented matrix.

A (b) [10%] Identify the free variables and the lead variables.
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A (c) [10%] Display a vector formula for a particular solution .= i
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/%—(d) [109%] Display a vector formula for the homogencous solution @,. 7 £
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A (e) [10%] Identify cach of Strang’s Special Solutions. —> :’;1 ‘ "0‘:
= B Y |
A* (F) [10%] Display the vector general solution @, using superpolsition. A el e VIR
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